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Plot Sensor and FgRec Data
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-13 0
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P3-13

AYiE) | EBIAT (FD) | EBE (EH/HK) | XKR SRR

07:25 326 150.0 Be| ThiHfe07:25 RHEEF (KHAEZRE)
08:25 326 150.0 Ag| 7nHA@08:25 KENFEF (KAEEES)
09:35 326 150.0 B5| FnHA@09:35 KRENFEF (KREEEE)
10:55 326 150.0 RS FhHA@10:55 KENFEF (RAfEEER)
12:05 326 150.0 Be| ThiHHe12:05 REEF (KAEZRE)
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23t 2608.0 (8%) 1200.0 32333 %EC: 2080.0, PH: 5.6
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FERECE (2635. 0 vs 4285.0) 145
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V1, V¥RV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET L 2000

1400 - 1500

109

9641 1000

0.2 A - 500
142
00 00

TargetEC=2600. 0,  TargetSetEC=2080. 0

TargetPH=6. 5, TargetSetPH=5.6

0.0

7
300 A - 1500

ByWoFv @D43 103:03: ET=964 Fg=1200.0 Ro=157.0 *—eo—0—9©

200 - - 1000

|

T
a1
o
o

100 A

ol gt B Y

1.0

0.6 1

0.4+

0.2~

0.0
800 4

600

400 -

200 ~

o\ A varfing: kol

"PPFD_obs’] is missing

25 -

20 -

15 1
"To_obs'] is missing

80 -

60

"RHo-obs’]—is miss)

40 4 =—— RH —Warning: col [ RH-obs",

0.6 1

0.4+

0.2~

00 T T T T
0.0 0.2 0.4 0.6 0.8 1.0

FRV (ml d-1)

cumET (ml/plant)



hour

:10

115

:20

125

100

o
o
I

80

- 60

- 40

§_

&
%
&
4,
%
)
%
&
N
xe,%_}\
T
Y
%

@f%$
%
%

%

3,



P3-13

BriE) | EBIATK (7)) | EME (BEH/HK) | XKR ERR
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large discrepency for begining water status (225:3.0), set to 225 ml.
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HEERECE (2610.0 vs 4075.0) R
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P3-13

BYiE) | GEBIRTIK (D) | EBE (EA/#K) | XS ERE

07:20 288 150.0 el {Ri&e07:20 Bal (REAEESE)
08:15 288 150.0 BE| {Ri&e08:15 Bl (REAEHE)
09:10 288 150.0 S| {Ri&e09:10 Bzh (REERSE)
10:05 288 150.0 el {Ri&e10:05 Bal (REAEESE)
10:55 288 150.0 S| Ri&e10:55 BHal (REAEHSE)
11:55 288 150.0 e Rige11:55 Bz (REAERSE)
13:00 288 150.0 el Rige13:00 Bal (REAEESE)
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15:25 288 150.0 BS| 1Ri%e15:25 Bz (GGREMEESE)
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2it]2880.0 (107%) 1500. 0 33 KEC: 2080.0, PH: 5.7

TERRHEBR 2 STEEART (187.0 :

ZRIASERRIERE132.0 ml.

132.0), AlEEHT—@ % XA HS
LoRGERRETC (288) 574 (326. 0) FF, FIREH T & MG EIRS %2 XER

large discrepency for begining water status (223:21.0), set to 223 ml.
FEXRFERIEC (2650.0) 5iZEEC (2000.0) {RER K, 1HHRE

HEEIHECE (2650. 0 vs 3888.0) 1R e




P3-13_0, Day=41 (2025-05-11)
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P3-13
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09:50 288 150.0 FH| 1BRi%@09:50 Bz (kABERE)
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RER 3 B RECHER SR,

.0

0 138.0), AREHT—MS X5
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REXR B HEREC/PHIEER K, 7T
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MR LR 3R




P3-13_0, Day=40 (2025-05-10)
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P3-13

BfiE) | FEBEETHC (FY) | EB=E (EH/FK) | XK TR
11:40 288 150.0 |/\fu| {Ri&e@11:40 Bzh (GREfERSR)
2it| 288.0 (1)k) 150.0 32353 KEC: 2080.0, PH: 5.8

TERRHLER 2 STEELRT (187.0 :

ZRIAEBRIERL144.0 ml.

HEERECE (2620. 0 vs 3640.0) FS

144.0), FlEEHT—R % XA HS
AEREMEC (2620.0) 5i%EEC (2000.0) RELK KA, /T




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-13_0, Day=39 (2025-05-09)
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